Contest # 3

,Problem 3-1

~ No Pythagorean triple has hypotenuse 18 or 19. The

~ 12-16-20 (or 16-12-20) triple has the proper
- seek. That day can be written as |Dec. 16, 2020 or

@ elther 12~ 16-20 or 16~ 12-20

| _Problem 3-2 :

A fractié_n like a+

b+

. tion, Use a “split and fhp approach. Spht off the in-
~-teger part to get 46/35 = 1 + 11/35. Now flip the
fraction to get 46/35 sl 1/(35/1 1) Repeat the =

is called a connnued fmc« 2
- tions T into 4 congruent isosceles right tnangles Since

~ 48.and 2¢%9 =[512] is the area of the smaller square.

<

i ) Call the original isbséeles right triangle T In the dia-
grams, let the length of each leg of T be x. In the left

hand diagram, the vertical diagonal of the square parti-

each leg of T is x, the area of the square is x“/4. In the
other diagram, draw the segment shown to create 3

_congruent isosceles right triangles, each with hypote-
nuse—length xvZ /3. That s the length of a side of the

square with are.th 9. Fmally, since x2/4 = 576, x =

(TE e ratio of the squarts areas 1s 9t08)

- A solutton wnthout words IS shown below

nes greater

301, and [10401
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